sam2*CurMon:Entry$

o
~

sam2*CurMon
-
o]

o

0.4

0.3

0.2

0.1

—I—III|IIII|IIII|I|IIII|IIII|IIII

0 50 100 150 200 250 300 350 400 450

run4879 000 sam2.png

Entry$

16000

14000

12000

10000

8000

6000

4000

2000

sam2*CurMon {ErrorFlag==0}

evilree

Entries 382719

Mean 0.5254

Std Dev  0.01927

l
56 0.58 0.6 0.62

samz2*CurMon

asym_sam2/ppm:pattern_number {ErrorFlag==0}

20000 :
4
S XX %y
10000 - T
o ?H o e
10000 [+
TV B %o XLWx o Wxx
: PR % x
20000
i L 1 1 1 | .T{ 1 1 | L 1 1 1 | L 1 1 1 | L 1 1 1 | Il 1 1
0 10000 20000 30000 40000 50000

pattern_number

280

260

240

220

200

-3000

asym_sam?2

Entries 47779
Mean -7.515
Std Dev 1694

Underflow 1.236e+04

Overflow 1.212e+04

i

-2000 -1000

2000 3000
ppm




sam4*CurMon:Entry$

1.8

1.6

sam4*CurMon

1.4

1.2

1

0.8

0.6

0.4

0.2

0 50 100 150 200 250 300 350 400 450
Entry$
run4879 000 sam4.png

x10°

sam4*CurMon {ErrorFlag==0}

asym_sam4/ppm:pattern_number {ErrorFlag==0}

#

%

.

U

e

s

20000 thTree 25000F
18000~ Entries 382719 20000
168000 [ 15000 :—
B Mean 1.494 u
14000 10000
: dDev  0.0337
12000 St 5000
10000 Of
8000 -5000
6000~ 10000
4000~ 15000
2000 20000 -
-I 1 111 | 11 L1 11 | L1 11 | 1 111 | | 11 L1 | L1111 | ] -
037135 14 145 15 155 16 165 1.7 0

sam4*CurMon

10000 20000 30000 40000 50000
pattern_number

380

360

340

320

300

280

260 7

240

220

asym_sam4

Entries

Mean
l Std Dev

47779

-2.907

1655

8631

8417

RERRRRERE R RN
i .

=

[ I_I—'_I |

T

J]LJ Underflow
1[ Overflow

1

-3000 -2000 -1000 0 1000 2000

3000

ppm




sam6*CurMon:Entry$

sdllo Lurnviun

0.3

0.25

0.2

0.15

0.1

0.05

0

!

0

50 100 150 200 250 300 350 400 450
Entry$

run4879 000 sam6.png

x10°

20000

18000

16000

14000

12000

10000

8000

6000

4000

2000

sam6*CurMon {ErrorFlag==0}

evilree

Entries 382719

Mean 0.3639

Std Dev  0.005409

Q-
e
B

0.35

0.36

0.37

0.38

0.39 0.4
sam6*CurMon

asym_sam6/ppm:pattern_number {ErrorFlag==0}

8000 x
i y X
6000
; HH HOR §§2 . ” }{}{ O -
4[]“[];__ * -_-_-___-_- :fi“ TTT _-§§_-}{ %f T _-§ _-:jf%
2000 -
e R
-2000 -
~4000 [+ L1l LLl]4d
. g whwudwdd s L L
i{}{ }{}{ O O A X O O A l‘;{i
-6000 X
-8000 X
_I [ I 1 | I I | | [ 1 1 1 | I I | | I I | | [ I 1
0 10000 20000 30000 40000 50000

pattern_number

asym_same6
N Entries 47779
700 Mean  -0.5791
E otd Dev 1367
600 —
B Underflow 1121
500 Overflow 1074
B I
400
300
200
100 _—| IR BN IR AR AN BN B AN B B R AR B A
-3000 -2000 -1000 0 1000 2000 3000
ppm




sam8*CurMon:Entry$

=
T~

f

sdlld Lurnviurn
-
Lad

o
o

l_lllllIIII|IIII|IIII|IIII|IIII|II

0.25

0.2

0.15

0.1

0.05

0 50 100 150 200 250 300 350 400 450

run4879 000 sam8.png

Entry$

20000

18000

16000

14000

12000

10000

8000

6000

4000

2000

sam8*CurMon {ErrorFlag==0}

evilree

Entries 382719

Mean 0.3557

Std Dev 0.003771

365 0.37 0.375

sam8*CurMon

8000

6000

4000

2000

—2000

-4000

-6000

-8000

10000

asym_sam8/ppm:pattern_number {ErrorFlag==0}

T s T

W

ne

.

f

L

Dlllllllllllll

10000

20000

30000

40000 50000

pattern_number

800

700

600

500

400

300

200

100

-3000

asym_sam8

Entries

Mean

Std Dev

47779

7.121

1231

Underflow 354

Overflow

371

-2000 -1000

2000

3000
ppm




Ssam 1 *Cu FMDI‘I: Entl‘y$ Sam ‘I *Cl_]rM on {ErrorFIag==0} asym_sam1/ppm:pattern_number {ErrorFlag==0} asym_Sam'l

- 0.2 B Entries 47779
2 | _ evilree : }{ :
3 25000~ 30001 2500 — Mean 2.44
- i Entries 382719 - . -
5 T - 2000~ - x I StdDev 4419
2 0.15(— 20000 Mean 0.1788 - - e g _
i i §§H{ R atete §§ XXX §x§ :x:§§:x P X EDDD_— Underflow ’
B B 1000 -
- 15000 1500~
0.1 - 0 i
i I ~1000 i
B 10000 — = 1000 —
B i B :x:}{ §§§ x}{é i:x}{ §x§ e }{:x: ii}{ i
0.05 - ~2000 - x i
I 5000 — i x x 500 —
- - ~3000 2
N . I B o B
n—l—lllllllllllllll|IIII|IIII|IIII III|IIII|III'.-""fv':‘“:.‘l3 DIIIlJ_IIIlIII |III|III |I _IIII|IIII|IIII|IIII|IIII|III _IIII|III |IIII|IIII| I|IIII
0 50 100 150 200 250 300 350 400 450 0.165 0.17 0.175 0.18 0.185 0 10000 20000 30000 40000 50000 —dﬂon -2000 -1000 0 1000 2000 3000
Entry$ sam1*CurMon pattern_number ppm

run4879 000 sam1l.png



sam3*CurMon:Entry$

ra

—re
oo

sam3*CurMon

—e
[

1.4

1.2

1

0.8

0.6

0.4

0.2

0 50 100 150
run4879 000 sam3.png

00 250 300 350 400 450

Entry$

x10°

16000

14000

12000

10000

8000

6000

4000

2000

sam3*CurMon {ErrorFlag==0}

evilree

Entries 382719

Mean 1.543

Std Dev  0.06835

1.3 1.4 1.5 1.6 1.7 1.8
sam3*CurMon

asym_sam3/ppm:pattern_number {ErrorFlag==0}

40000
| #
30000
B #
20000 - % v % o
[ = T Mo O HooooT 1M H o
10000
OF H
10000
5 X X Ll x XX OHHK X & Lx
20000~ ~ ~ SR “ ¥
30000
| o
| #
_IIII|IIII|IIII|IIII|IIII|III
40000, 10000 20000 30000 40000 50000

pattern_number

asym_samg3

210

200

190

ﬂ'

Entries 47779
Mean 4.767
Std Dev 1708

Underflow 1.475e+04

Overflow  1.46e+04

180+
1701+ ml
| |
160t
:IIII|||||||||||||||||||||||||
3000 -2000 -1000 O 1000 2000 3000
ppm




sam5*CurMon:Entry$

0.3

!

sdlllid Lurviun

0.25

0.2

0.15

0.1

0.05

n III|IIII|IIII|I

0 50 100 150
run4879 000 sam5.png

2’00 250 300 350 400 450
Entry$

x10°

30000

25000

20000

15000

10000

5000

sam5*CurMon {ErrorFlag==0}

evtlree
Entries 382719
Mean 0.2701

Std Dev  0.001736

IIII|IIII||_l||||J|||III|III

0.265

027 0275 028 0.285 0.29
samb5*CurMon

asym_sam5/ppm:pattern_number {ErrorFlag==0}

4000
B X
3000 v
N X
2000 e X %
X xxxx% ¥ s §§§x % xxﬁﬁ g 3
1000
OF
-1000
_Ennniéx xxxxgiigxix §xﬁx X H§KK§§H §§§
- .
-3000 %
[ b
_||||||||||||||||||||||||||||
_4DDDD 10000 20000 30000 40000 50000

pattern_number

asym_sam>
B Entries 47779
2200
- Mean -5.905
2000
1BDD:— Std Dev 526.3
1600 :_ Ul'ldEl‘ﬂDW 1
1400 Overflow 1
1200
1000
800
600
400
200
:Illlll|I|IIII|IIII|III|IIII
ﬁaﬂnnn 2000 -1000 0 1000 2000 3000
ppm




Sam7*curMDn: Entl‘y$ Sam7*CurMUn {ErrorFIag==0} asym_sam7/ppm:pattern_number {ErrorFlag==0} a$ym_$am7

- 10000 m Entries 47779
g I : evtiree : y ;
307 16000 8000~ x 800 Mean 5.96
;:., i Entries 382719 - I
S 0.6 X 14000 6000~ ; 7001 StdDev 1275
- i Mean 0.6751 B _ % -
- B 4000FX_ X XF X X pax x X x K_xx - Underflow 485
050 12000 600
T - Std Dev  0.00775 2000 N Overflow 469
B 'IDUUU_— EDD_—
ﬂ.4_— n D_ B
- 8000 : -
- B 400
0.3 : ~2000 :
- 6000 — -
. B —4000 e x XX X X % % 4 300
0.2H - [ M s * o -
: 4000~ 6000 — y 200
0.1 i i E
o 2000 — [ -
: | : ~80001 y 100
_IIII|IIII|IIII|I|IIII|IIII|IIIIIII|IIII|IIIH1U3 D_Illllllll I|I I|I I|I I|I II||IIII _-IDDDD_Illlllllllllll|IIII|IIII|III :IIII|IIII|IIII|IIII|IIII|IIII
0 50 100 150 200 250 300 350 400 450 064 065 066 067 068 069 0.7 0.71 0 10000 20000 30000 40000 50000 -3000 -2000 1000 0 1000 2000 3000
Entry$ sam? "CurMon pattern_number ppm

run4879 000 sam7.png



yield_sam2:pattern_number {ErrorFlag==0} yi eld samz2 { EI'FDI'F|3.Q ==0} asym_sam2/ppm:pattern_number {ErrorFlag==0} asym_sam2/ppm {ErrorFlag==0}

— 80000 . :
0.007]— 2000 htemp - I PairTree
- [ R R e I T T TT | i
0.0068 N 8000 - Entries 191220 60000 T T _Z“ITITT| . TTT_TTIIT T T. 5000 Entries 1891220
X 7000 Il i
0.0066~ - Mean  0.006157 40000y, i Mean ~30.02
R £ :_ I 4000 —
0.0064 HHIIHE: o000 20000 - I
Rk _ Std Dev  0.0001706 il | i Std Dev  2.272e+04
R 5000 - i -
0.0062 SR - 0 BEEHEEHEEEEEHEEE HEEaEHEEEEHEREHEEEEEE 3000—
0.006 4000~ : i
j A e e s b e - 20000 -
0.0058 LI H T R) R T 3000 - 2000
SRR 5 40000 - I
0.0056 — 2000 I R
- - [ - I | INRNARE 1000
0.0054]- 1000~ 60000 L R A e e -
DDDSE_IlllllllllllllI|IIII|IIII|III :llllllll I|III|III|III|III| |LII|I _BDD[]D_Illlllllllllll|IIII|IIII|III _III II|III|III|III|III|II L 1 1
' 10000 20000 30000 40000 50000 ¢ 0050.0058.0056.005.008.0068.0068.0068.0068.007 0 10000 20000 30000 40000 50000 _88000-60000-40000-20000 0 20000 40000 60000 80000
pattern_number yield_sam?2 pattern_number asym_samz2/ppm

run4879 000 pairTree sam2.png



0.0195

0.019

0.0185

yield_samdpattern_number {ErrorFlag==

_:ﬂ;t_._.i'_:l__lllllI|IIII|II

III|IIII|III,IL.

10000

20000 30000 40000 50000

pattern_number

run4879 000 pairTree sam4.png

10000

8000

6000

4000

2000

yield_sam4 {ErrorFlag==0}

htemp

Entries 191220

Mean 0.01751

Std Dev  0.0003169

III|III I||||||_I|III

.0160.01650.0170.0

D‘IBSD 0190.0195

yield_sam4

50000

40000

30000

20000

10000

0

10000

20000

30000

40000

50000

asym_samd/ppm:pattern_number {ErrorFlag==0}

IIIIIIII":|{'|
|
| =

[}

iHIH”IHH

F 14
e
W

4

[
LLd
[}

(K
(1]
[

| W
| W
| R

(K

Ll
[N

_‘_‘_\;{_

(1]
(K]

___‘_‘-_5{_

[

Ll
(K]

XK T

(1]
i
i
[l 1]
i

wo L
2K

i
i
i
i3
[
i ]

R

il
i
i
[l
[
i
i[5
(]

Ll ;{2

EHERK
-

0

10000

20000

30000

40000
pattern_number

50000

6000

5000

4000

3000

2000

1000

asym_sam4/ppm {ErrorFlag==0}

PairTree
Entries 191220
Mean —20.45

Std Dev  1.308e+04

|_ l l

1
-40000 -20000 20000

asym_samd/ppm

40000




yield_sam6:pattern_number {ErrorFlag==0} yi eld _samb6 { EI'FDI'F|3.Q ==0} asym_sam6/ppm:pattern_number {ErrorFlag==0} asym_sam6/ppm {ErrorFlag==0}

30000 :
B | 10000~ hte M p P __ . 5000/ PairTree
0.0046 — 5 I R T T s 1 & e I
i | ] Entries 191220 20000 - - 7 T : Entries 191220
- | 8000 — [ 4000
0-0045 = - Mean 0.004265 I - Mean -3.558
- I 10000 - I
g ‘ lﬁ: - 0;353355;3;33;33; S HERRREEEERRBREERHAR -
0.0043} i - :
i 4000~ L T 2000
- - 10000 [ -
0.0042§ 1§ i ' -
e 2000 : 10001
0.0041— | A R i 200007 | [ L] |1 - - L -
nnn4_lllllllllllllI|IIII|IIII|III _|IIII III|IIII|IIII ||I|IILI|III _Bnnnn_llllllllllllll|IIII|IIII|III _|III|IIII|IIII|IIII|IIII|III|
' 10000 20000 30000 40000 50000 $004 0.0041 0.0042 0.0043 0.0044 0.0045 0.0046 0 10000 20000 30000 40000 50000 80000 20000 —10000 0 10000 20000 30000
pattern_number yield_sam6 pattern_number asym_sam6/ppm

run4879 000 pairTree sam6.png



yield_sam8:pattern_number {ErrorFlag==0}

00435

0.0043

00425

-
'
L
L
F
12
.:_"_4

0.0042

ol
R
===
—_

00415

|

II|IIII|IIII|III".T.-,.I

0.0041

Rk vrn . . .

bt PR

= —————- .
[ L

00405

0.004

00395

10000 20000 30000 40000
run4879 000 pairTree sam8.png

50000
pattern_number

10000

8000

6000

4000

2000

yield_sam8 {ErrorFlag==0}

htemp

Entries 191220

Mean 0.004168

Std Dev 3.438e—05

IIII|IIII|IIJI

0.0039%.004.004

00425.004(3.00435

yield_sam8

20000

15000

10000

5000

-5000

10000

15000

20000

asym_sam8/ppm:pattern_number {ErrorFlag==0}

by
1
{

T T 111 1H

I — — I
[
| e

[}
L[
L3
(Wi
(K
[}
L7
[}
(K
L7

i ]

[}
(1K
(K
[l ]

|

| W
{ =
|

[l ]
i ]
i
[l ]
[l ]
(i1
i ]
i
[l ]
[l ]
i ]
[l ]
i
i

U

1
O

vy

0

20000

30000 40000 50000

pattern_number

6000

5000

4000

3000

2000

1000

asym_sam8/ppm {ErrorFlag==0}

PairTree

Entries 191220

Mean 8.433

Std Dev 5374

o F
o
==

1500810006-5000 0 5000 100001500020000
asym_sama8/ppm




00215

yield_sam1:pattern_number {ErrorFlag==0}

0.0021|RERid &:itis LM

00205

0.002

00195

10000 20000 30000 40000 50000
pattern_number

run4879 000 pairTree sam1.png

16000

14000

12000

10000

8000

6000

4000

2000

yield_sam1 {ErrorFlag==0}

htemp

N l
- Entries 191220
- Mean 0.002096
N Std Dev 1.402e—05
_I ] ] ] | ] ] || | ] ] L 1 | ] ] ] | ] ] ] | |
0.00195 0.002 0.00205 0.0021 0.00215
yield_sam1

8000

6000

4000

2000

asym_sam1/ppm:pattern_number {ErrorFlag==0}

ES
b
| W
]
]
]
=
it
b

(i
0 1
-

AN

I | I—
I | B —
I | F I

AN

1

AN

: i !

: il :

: T :

il }

i }

: i :
I |

: i :

L1
: T }
1
I §

: i :
I N
I I

' I }

D_
_2000 —
—4000 [ | * x |
= _}{ | i I I I I - };: i I -
& et Hﬁﬁi- | _R _HH_ - A A
-6000 *
— et
_I L1 1 | L1 1 | | I | L1 1 1 | L1 1 | L1 1
8000 10000 20000 30000 40000 50000

pattern_number

7000

6000

5000

4000

3000

2000

1000

asym_sam1/ppm {ErrorFlag==0}

PairTree
Entries 191220
Mean 2.369

Std Dev 1641

000 -6000 -4000 -2000 O

2000 4000 6000 8000
asym_sam1/ppm



yield_sam3:pattern_number {ErrorFlag==0} yi eld sam3 { EI'FDI'F|3.Q ==0} asym_sam3/ppm:pattern_number {ErrorFlag==0} asym_sam3/ppm {ErrorFlag==0}

10°
- h . 100 6000 :
0.021— 8000 te M p r - T ) ) « - Pa' rTree
: ; i L 00 STTT T3 = 17 1571 T 1] ! Entri 191220
I “i o . § ntries 191220 j TTTTT - AT TT 2T ITTTT -TT-T 12T - ntries
I A S N 7000 el 5 5000
0.02— b R T O T R T - : i -
o 6000~ Mean — 0.01809 AT - Mean -8.561
4y i1k - : 4000
0.019t :'iif-i 5000 Std Dev 0.0006143 20 - | E Std Dev 2.776e+04
- 0HHHEHEEEEEEEEEEE BEEBREEEEEEEEEEEEHHHE _—
0.018 g 4000 : S000¢
. - —20 T " i
3000 Z -
: . - I 2000
[].[:I‘IT"i - 40 B
i - 2000 ! i
i 1. N —60 1 L -
0.016(~ mnn:— 3 M R R S SV B B e 1000~
i . 80~ T T % V| -
nD-IS_IIIIlIIIIlIIII|IIII|IIII|III %IIII III|IIII|IIII|IIII III|II _-IDD_Illlllllllllll|IIII|IIII|III _III|_ I|III|III|III|III|III|III|I III:-""CT.‘”.‘..‘I3
' 10000 20000 30000 40000 50000 #015 0016 0017 0018 0019 002 002 0 10000 20000 30000 40000 50000 900 80 80 40 20 0 20 40 60 80 100
pattern_number yield_sam3 pattern_number asym_sam3/ppm

run4879 000 pairTree sam3.png



yield_sam5:pattern_number {ErrorFlag==0} yi eld sam5 { EI'FDI'F|3.Q ==0} asym_sam5/ppm:pattern_number {ErrorFlag==0} asym_sam5/ppm {ErrorFlag==0}

10000 — .

: 16000~ htemp : >000F PairTree
0.0034 [ i | 8000 . : I |

- 14000 Entries 191220 - TR CTTT TT T i Entries 191220
00335 : - e % < 4000

- 12000 __ Mean 0.003166 4000 1 s ”; - *: i Mean —5.742

n N i s 1 1 B
DDDBB :_ | .I DDDD :_ Std DE\I’ 2.032e-05 Ennn :__'." ] L | slRs [ 117 | ST | = | 1 It |1 | 1 s i BDDD __ Std DE'I'HF EE‘I E
.DEIBES:— EDDD:— nggsH slclalalslslsts EH :SEEEEHEEEEE al=|Sis|alalals B

TRt i 2000 E I (UL L ] TS SUE 2000
0.0032 il d b 6000~ T | L TUL T TULRL TrnbL LU TU T T :

i ~4000 /- | |5 v 5 . i

00315 4000 INRES*: * . x| | ,

.i : —6000 E___ I L 1] | }{_ | 1000—

'_ 2000 - x| . -
n.nnm: - ~8000[ il 1 i

_IIII|IIII|IIII|IIII|IIII|III D_IIII III|IIII|I LJ_IIIJ_|IIII|IIII|III _IIII|IIII|IIII|IIII|IIII|III D_Illll III|III|III|III|III|III II|III

10000 20000 30000 40000 50000 0.00310.003150.00320.003250.00330.003350.0034 0 10000 20000 30000 40000 50000 -8000-60004000-2000 0 2000 4000 6000 800010000
pattern_number yield_sam5 pattern_number asym_sam>s/ppm

run4879 000 pairTree sam>5.png



yield_sam7:pattern_number {ErrorFlag==0} yi eld sam7 { EI'FDI'F|3.Q ==0} asym_sam7/ppm:pattern_number {ErrorFlag==0} asym_sam7/ppm {ErrorFlag==0}

- 8000 htem p : L A PairTree
0.0082— - 20000 T Tl x| X -
- g u Entries 191220 T T T T 71T 77T T 000 Entries 191220
- 7000 15000 - >000¢
0.0081= i - | i
- 'l 6000 :— Mean 0.007913 10000 - B Mean 4.925
] ny - : 4000+
0.008 g4 - § -
5000~ Std Dev  7.15e-05 5000, - Std Dev 6793
- 0 BHHEHEEEEEEERERE HEEEHEEEEEER8BRBERRRE B
4000 : 3000+
- 5000 i
0.0078 B i -
3000— i
! E 10000 [ 2000~
0.0077— . | 2000 :— 150001 | -
i | - 1B R N ¥ R SR B AR L R SR e R ] 1000
10076 1000 20000 Mo TR T X - T y i
_IIII|IIII|IIII|IIII|IIII|III D:III|III IIII|IIII|IIII|IIII I|II 'EEBDD__Illlllllllllll|IIII|IIII|III _|IIII|| I|IIII|IIII|IIII|IIII|IIII|IIII|I ||III
10000 20000 30000 40000 50000 0.0076 0.0077 0.0078 0.0079 0.008 0.00810.0082 0 10000 20000 30000 40000 50000 —BED[}FEDDDH 506a100065000 0 500010000500@0000
pattern_number yield_sam/ pattern_number asym_sam?y/ppm

run4879 000 pairTree sam7.png



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

rund879 000

as

B ]
i - —50¢
.02
i —l40(
0.01—
.|:| -
—0.01—
-0.02-
il | | | |
-0.02  —0.01 0 0.01 0.02
asym_samz2
.
0.025F —
- . —18(
0.02F
- —16(
0.015F -
- —14(
0.01F -
- —{12¢
0.005F
o
0.005F
-0.01F
- O
0.015F
- O
—0.02
- 11 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 11
-0.02  —0.01 0 0.01 0.02
asym_sama2
Al
- ]
0.008|m —{80c
0.006 _=0¢
0.004 _soc
0.002 - oo
O
0.002
-0.004
0.006
-0.008 - a
[ 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1 1 1 | 1 1
-0.02  —0.01 0 0.01 0.02
asym_samz2
N —14(
0.006
- —12¢
0.004
0.002 —10¢
0 o 80K
0.002
N 60(
0.004
0.006 40t
0.008 20
-0.01F -

asym

sam2468

' p.o2

0.01

-0.01

-0.02—

—18(

—16(

—14(

—12(

200
|

-0.02-0.015-0.0+-0.005 0 0.005 0.010.0150.020.025

asym_samd

QE%Q — 4 —70C

0 nzz .
F —60(
0.015F -
- —(50¢
0.01F
0.005F —4n¢
o
-0.005F
~0.01F
-0.015
- 10
n |
-0.02F 4
:III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|
-0.020.015-0.0+-0.005 0 0.005 0.010.015 0.020.025
asym_samd
aw4
N
0.008] m 1
B |
0.006—
- —{10¢
0.004
0.002 N
ﬂ:_ 60
-0.0021
-0.0041 40t
-0.006F
- 20
~0.008- 0

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

“mutual

-0.02-0.015-0.0+-0.005 0 0.005 0.010.0150.02 0.025

asym_sam4

asym_samd

—25(

— 200

15(

10(C

50(

“correlation-COL

as

B [
- m —80C
| 0.02-
| 2 —{70¢
0.01 —80C
- —50(
.D _
- 40(
- 30(
~0.01—
- 20¢
~0.02- 10¢
_I | | | | | L 11 | | | | | | | L1 1 | L1 1 | | I | | 11 IH 11
~0.0080.0060.0040.002 0 0.0020.0040.0060.008
asym_samé
.
0.025F —
- —12¢
- N
0.02F
0.015F —10¢
0.01F
- —80C
0.005F
0 60(
-0.005
- 40(
—0.01F
-0.0151 20
— [ |
~0.02F =
:I | | L1 1 | L 11 | L1 1 | L1 1 | 111 | 111 | L1 1 | L1 1 | L1
~0.0080.0060.0040.002 0 0.0020.0040.0060.008
asym_samé
Aas
B —
0.008 - L eoc
0.006 "
0.004 —40t
0.002
N 30(
o
-0.002
N 20(
-0.004F
-0.006F 10¢
-0.008~ ®
_I | | 1 1 1 | 1 11 | 1 1 1 | 1 1 1 | 111 | 111 | 11 1 | 1 1 1 | 11
~0.0080.0060.0040.002 0 0.0020.0040.0060.008
asym_samb6
Aas
0.008 ol
- —12(
0.006(
0.004 —10t
0.002
- —80(
o
-0.002 B0C
-0.004
- 40(
-0.008F
-0.008F 20(
—-0.01 ®
B | | 1 1 1 | 1 11 | 1 1 1 | 1 1 1 | 111 | 111 | 11 1 | 1 1 1 | 11
faYale]

006-0.0040.002 0 0.0020.0040.0060.008

. p n g asym_samé

as

' p.o2

0.01

-0.01

-0.02

- W —14(

—12(

—10C

|I|||I|||I|||I|||I|||I|||I|||I|||I|||H

—0.01-0.0080.0060.0040.002 0 0.0020.0040.0060.008

as

0.025
0.02

0.015

-0.005
-0.01
-0.015

-0.02

asym_sam8g

— —30(C

—25(

—20(

15

10C

50C
|
|

—0.01-0.0080.0080.0040.002 0 0.0020.0040.0060.008

as

0.008
0.006
0.004
0.002
0
-0.002
-0.004
-0.0086

-0.008

asym_sam8

—12(

—10C

—80C

—0.01-0.0080.0060.0040.002 0 0.0020.0040.0060.008

as

0.008
0.006
0.004
0.002
0
-0.002
-0.004
-0.0086
-0.008

-0.01

10(

asym_sam8g
o - M
E_ —60(
i_ —50(C
; —40(
i_ 30(
; f 20(

—0.01-0.0080.0060.0040.002 0 0.0020.0040.0060.008

asym_sam8g



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

rund879 000 asym

asym_sa

72 | ndf 15.47 / 22
p0  -3.121e-07 = 7.629e-07

P 0.9984 = 0.0002

[WRE V)]

0

-0.005

—-0.01

-0.015

-0.02

_|IIII|IIII|IIII|IIII|IIII|IIII|

-0.025

-0.02

4ASVYIl_Sa

%= [ ndf 22327122
pld  -2.609e-06 = 6.006e-06

P 0.66 = 0.00

—-0.01 0 0.01

0.02

0.005

-0.005

—-0.01

-0.015

-0.02

[LTT TTTT TTTI TTTT TTTT TTTTTT
I I I I I I
—_—

-0.02

asym_sa

0.008

0.006

0.004

—-0.01 0 0.01

m2

0.02

2/ ndf

252/22

p0  -7.367e-06 = 5.407e-06

pi

-0.2527 £ 0.0016

0.002

-0.002

-0.004

-0.006

=
IIIII|III|III|III|III|III|III|III|

-0.008

-0.02

asym_sa

0.008

0.006

0.004

—-0.01 0 0.01

m2

0.02

2 { ndf

30.56 /22

po 1.501e-06 £ 3.341e-06

pi

0.002

-0.2548 = 0.0010

0

-0.002

-0.004

-0.006

-0.008

_I_IIIIIIIIIIIIIIII|III|III|III|III|III|

—0.01

-0.02

sam2468 m

utual

asym_sam4

72 | ndf 29.79 /22

p0  -1.635e-06 = 7.953e-06

Pl 1.305 £ 0.003 2

TauoS

-0.005

-0.01

-0.015

-0.02

_|IIII|IIII|IIII|IIII|IIII|IIII|

-0.025

-0.02

—0.01 0 0.01 0.

asym_sam4

¥ [ ndf 17.26 122
p0 1.472e-06 £ 6.872e-07

Pl 0.9983 = 0.0002 =

0.005

-0.005

-0.01

-0.015

-0.02

_|_II|IIII|IIII|IIII|IIII|IIII|I

-0.02 —0.01 0 0.01 0

02

asym_sam4

0.008 - IE ! it

0.006

0.004
o p1

106.4 / 22

p0  -1.26e-05 + 4.73e-06

-0.3731£ 0.0017

0.002

-0.002

-0.004

-0.006

_—
IIIII|III|III|III|III|III|III|III|

-0.008

-0.02

1
—0.01 0 0.01 0.

asym_sam4

0.008 2/ ndf

0.006 ] 50

0.004
1-+ p‘l

0.002

5515722

—B8.936e-07 £ 2.027e-06

—-0.3902 £ 0.0007

0

-0.002

-0.004

-0.006

-0.008

_I_IIIIIIIIIIIIIIII|III|III|III|III|III|
]

—-0.01

-0.02 —0.01

correlatio

-flt pn

:

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.025

0.02
0.015
0.01

0.005

-0.005
—-0.01
-0.015

-0.02

p0

pi

3
E

7446/ 31

- 2 I ndf

— p0  —3.788e-05 + 1.440e—05
3 III# \ o1 —2.092 £ 0.010
n b

- }

= +.I.

— q}Ir

_'I_l | I L1l 1 I L1l 1 I L1 1 I L1 1 I L1 1 I L1 1 I L1 1 I 1 I_I 1

—0.0080.006-0.0040.002 0 0.0020.0040.0060.008

) I++H+ru

ulll

2

1= [ ndf

pl

101.3 /731

pld  -2.784e-05+ 9.53%e-06

-1.555 = 0.007

#

_|+’r

—0.0080.006-0.0040.002 0 0.0020.0040.0060.008

asym_sa

2 { ndf

52.77 1 31

1.026e-07V £ 2.552e-07

0.9985 £ 0.0002

U.0UZ

-0.002

-0.004

-0.006

-0.008

—0.0080.006-0.0040.002 0 0.0020.0040.0060.008

asym_sa

=4

%2/ ndf 78.51 / 31
p0  1.221e-05= 3.622e-06
pi 0.6771% 0.0025 g
+hE
oF
-0.0021 g
- e
-0.004
-0.006F )
-0.008F
-0.01 |
L

.}+

—0.0080.006-0.0040.002 0 0.0020.0040.0060.008

o

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

-0.025

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

m3

- +2 / ndf 28.46 / 23
— p0  —6.304e-06 + 1.068e—05
- o

- * p1 _2.943 + 0.009
- e

- Hat ]l_

:I'I I L1 I L1 1 I | | I L 11 I | | I L1 1 I L1l 1 I L1 1 I L1 1 I_I |

—0.040.0080.00€0.0040.002 0 0.0020.0040.00€0.008

E

1=/ ndf 45.88 /23
pd  —1.283e-06 £ 4.891e-06

., p1 ~2.289 + 0.004

T

“+
'I'..,_I_
+

t-

—0.040.0080.00€0.0040.002 0 0.0020.0040.00€0.008

asym_sa

=1

12/ ndf 68.99 /23 )
p0  —1.139e-05 £ 4.327e—-06
.
++I
p1 0.9523 £ 0.0037 FANE
.00 —
0
-0.002 :—
B - + #*:
-0.004|- #
_0.006 :— -
-0.008 :— -

p0

pi

—D.D#—ﬂ.ﬂﬂﬁlﬂﬂﬁlﬂﬂdﬂ.ﬂﬂ? 0 0.0020.0040.00€0.008

asym_sa

2 { ndf

1

037e-07V £ 2.820e-07 .

=1

21.88/23 :

0.9976 £ 0.0002 =

-0.002

-0.004

-0.006

-0.008

—-0.01

—0.040.0080.00€0.0040.002 0 0.0020.0040.00€0.008



asym_sam?2

asym_sam4

asym_samé6

asym_sam3

as

lp.02

0.01

-0.01—

-0.02—

-0.02 —0.01 0 0.01 0.02
asym_samz2

0.02

0.015

0.01

0.005

-0.005

—-0.01

-0.015

-0.02

]
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.02 —0.01 0 0.01 0.02
asym_samZ2

as

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
II|III|III|III|III|III|IIIIIIIIIIIlII

-0.02 —0.01 0 0.01 0.02
asym_samz2

as

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

L p.02-

0.01—

-0.01—

-0.02—

-0.020.015-0.0+0.005 0 0.005 0.010.0150.020.025
asym_samd

0.005

-0.005

-0.01

-0.015

-0.02

=
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—-0.02-0.0150.0+0.005 0 0.005 0.010.0150.020.025
asym_samd

=
II|III|III|III|III|III|IIIIIIIIIIIlII

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

=
II|IIIIIII|III|III|III|III|III|III|I

-0.02-0.015-0.0+0.005 0 0.005 0.010.0150.020.025
asym_samd

as

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

as

L p.02-

0.01—

-0.01—

-0.02—

—0.0080.006-0.0040.002 0 0.0020.0040.0060.008
asym_samé

0.02

0.015

0.01

0.005

-0.005

-0.01

-0.015

-0.02

=
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—0.0080.008-0.0040.002 0 0.0020.0040.0060.008
asym_samé

as

0.008

0.006

0.004

0.002

-0.002

-0.004

-0.006

-0.008

—0.0080.0060.0040.002 0 0.0020.0040.0060.008
asym_samb6

as

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

—-0.0080.006-0.0040.002 0 0.0020.0040.0060.008

rund879 000 asym sam2468 “mutual correlation-scat.png

as

| 0.02—

0.01—

-0.01—

-0.02—

—0.01+0.0080.0080.0040.002 0 0.0020.0040.0060.008
asym_sam8g

as

0.025 —

0.02

0.015

0.01

0.005

0

-0.005

-0.01

-0.015

-0.02

—0.0+0.0080.0080.0040.002 0 0.0020.0040.0060.008
asym_sam8

as

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

—0.010.0080.0080.0040.002 0 0.0020.0040.0080.008
asym_sam8g

as

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

-0.01

—0.010.0080.0080.0040.002 0 0.0020.0040.0080.008
asym_sam8g




asym_saml

asym_samJ3

asym_samsS

asym_sam’7

rund879 000 asym saml357 ‘mutua

as

0.003

—70C

0.002
—60C

0.001

—150(

—0.001

-0.002

-0.003

]
III|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.003 -0.002 -0.001 0  0.001 0.002 0.003
asym_sami

' 0.03 1o

0.02

—80(
0.01

-0.01

-0.02

0
n

-0.03
|

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.003 -0.002 -0.001 0O 0.001 0.002 0.003
asym_sami

-0.04

ada- —18(

0.003 —16(

0.002 0 14

—12(
0.001

—0.001

-0.002

L
-

-0.003
|

-0.003 -0.002 -0.001 0O  0.001 0.002 0.003
asym_sami

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.004

u —10(
0.008

0.006
—80(C
0.004

0.002

—60(C
0

-0.002 400

-0.004

-0.006 20¢

-0.008
|

Ijj‘lIIIIIIII|IIII|IIII|IIII|IIII|IIII|II _D

as

i —
0.003 ™
 n —10(
0.002f- |'_
N —80(
0.001- -
= 60K
~0.001F
- 40(
-0.002 K
N - 20
~0.003[-
_ |
_IIII|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII ,D
-0.04 -0.03 -0.02 -0.01 0 001 002 003 0.04
asym_sam3
ah_ ]
- W —BoC
" 0.03F
- - 500
0.02
0.01 —40(
“:_ 30(
-0.01
N 20(
-0.02|
N 10
-0.03F
_,Dhn_IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII ,D
%604 —0.03 002 001 0 001 002 003 004
asym_sam3
ASYIN_
- " 1o
0.003| -
0.002 " _|soc
0.001F-
- 60C
0
-0.001 40(
-0.0021
- - 20(
C
-0.003F "

_ N
_Dlﬂﬂ_IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII D
96.04 —0.03 002 001 0 001 002 003 004

asym_sam3

&1‘_ ]

- =
0.008- g —25(
0.006
0.004[ 120
0.002

N 15(

0

-0.002F

N 10
-0.0041
-a.m:na:— - 500
-0.008F

__Dlﬂ-‘lIIII|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII

“Eorrelation:CO

| — ]
0.003- ™
- —16(
0.002 _l14c
0.001F 1
N 10
Uy
N 80(
-0.001
N 80(
-0.002 40
B |
~0.003F 20
_ |
_I 111 | L1 11 I L1 1 1 | 1111 | 111 1 | L1 11 | L1 11 I L1 1 1
-0.004-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004
asym_samb
- —10(
" 0.03F
| N O
0.021- . —80c
0.01F
- 60C
oy
-0.01F 40(
002 ®
N 20(
-0.03
B - [

_ % coov bve o b b b P P nn Py g

ﬂ; q:ﬂﬂd—{].D{}E—{].ﬂﬂE—{].ﬂm 0 0001 0.002 0.003 0.004
asym_sam5b

N p—
[ [
0.003 5 . o
0.002
N —50(
0.001F-
N —40(
0
- 30
-0.001
N 20(
-0.0021
-0.003F 3 10
- W
_,Dlﬂ4_IIII|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII
X 004-0.003-0.002-0.001 0 0.001 0.002 0.003 0.004
asym_samb
m’-_ ]
[~ |
- —10(
0.008F g
0.006
N —80(
p.004 ®
0.002
N 80(
0
-0.002F
- 40(
-0.0041 .
~0.006[~ M 20(
-0.008F
[ [
i 1 _I 1 11 | 1111 I 1111 | I | | 1 111 | 1 111 | 1111 I 1111
350

c293-0.002-0.001 0 0.001 0.002 0.003 0.004
asym_samb

PIY

as

0.003
0.002

0.0

-0.001
-0.002

-0.003

| —10(

—80C

60(

40(

200

—0.040.0080.00&0.0040.002 0 0.0020.0040.0060.008 0.01

as

' 0.03
0.02

0.01

—-0.01
-0.02
-0.03

—{].Eé

0.003
0.002

0.001

-0.001
-0.002
-0.003

—{].ﬂ?ﬂ

0.008
0.006
0.004
0.002
0
-0.002
-0.004
-0.0086
-0.008

asym_sam7y

—25(

—20(

15(

10C

50(C

04+0.0080.0060.0040.002 0 0.0020.0040.0060.008 0.01
asym_sam7

—10C

—80C

.0+0.0080.0080.0040.002 0 0.0020.0040.0080.008 0.01
asym_sam7y

o —60(C

—50C

—40(

.0+0.0080.0080.0040.002 0 0.0020.0040.0080.008 0.01
asym_sam7y




asym_saml

asym_samJ3

asym_samsS

asym_sam’7

rund879 000 asym

asym_sa

72 | ndf 22.01 / 21
p0  —1.754e-07 = 1.017e-07

P 0.9977 = 0.0003

—0.001

-0.002

-0.003

II|IIII|IIII|IIII|III
1

-0.003-0.002 -0.001 O

0.03

0.02

ml

0.001 0.002 0.003

2 ndf

2413/ 21

pld  -5857e-07 £2.373e-05

pl

—4.622 = 0.058

0.01

-0.01

-0.02

-0.03

-0.003-0.002 -0.001 O

E

0.003

0.002

ml

0.001 0.002 0.003

2/ ndf

pi

1518/ 21

p0 -3.371e-06x1.411e-06

-0.9765 £ 0.0036

0.001

—0.001

-0.002

-0.003

=
III|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.003-0.002 -0.001 O

asym_sa

7= [ ndf 26.04 7 21
po 3.766e-06 £ 6.062e-06

p1 0.9029 £ 0.0149

0.001 0.002 0.003

0.002

0

-0.002

-0.004

-0.006

-0.008

asym_sa

0.002

0.0

mJ3

72 [ ndf

b2.46 /23

po 2.002e-06 £ 1.902e-06

p1

—0.03137 £ 0.00038

-0.001
-0.002

-0.003

o

-0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04

4SVINl_Sa

1= /[ ndf 1425723

pld  -8334e-07 £ 1.168e-06

p1 0.9978 + 0.0002 T
AN IS ]
oF

-0.01 y

-0.02F e

-0.03
-_rlll_ll|IIII|IIII|IIII|IIII|IIII|IIII|IIII|I
-0.04-0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04

asym_sa

2 ndf 63.94 /23

p0  -5.543e-06 = 2.096e-06

p1 0.05033 £ 0.00042
Un
B T
~0.001F !
-0.0021 H
-0.003F

-0.04 -0.03 -0.02 -0.01 0 0.01 0.02 0.03 0.04

0.008

0.006

0.004

mJ3

+2 { ndf

p1

36.8/23

po 2.924e-06 £ 1.871e-06

—0.2365 £ 0.0004

0.002

0

-0.002

-0.004

-0.006

-0.008

-|'|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIII|I

- sam1357 mutual correl:

ation-fit.

E

0.003

0.002

0.001

ms

72 | ndf

27.81 /24

p0  -1.193e-06 = 1.180e-06

pl

—0.6856 = 0.0024

-0.001

-0.002

-0.003

=
I|IIII|IIII|IIII|IIII|IIII|IIII|

TIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

—0.004-0.003-0.002-0.001 ©

4ASVYINl_Sa

72/ ndf 2206724

p0 2.382e-05 £ 2.183e-05

0.001 0.002 0.003 0.004

p1 5.409 + 0.044 )
0.01 -
- s
oF
N o
—0.01 i
- #
-0.02| -
-0.03
'_I'IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

—0.004-0.003-0.002-0.001 ©

asym_sa

2 | ndf 21.27 /24
p0  —2.817e-08+ 1.107e-07

p1 0.9983 £ 0.0002

0.001 0.002 0.003 0.004

L i |

-0.001

-0.002

-0.003

TIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

—0.004-0.003-0.002-0.001 0O

asym_sa

0.008
0.006

0.004

ms

0.001 0.002 0.003 0.004

%2 / ndf

p1

24.37 [ 24

p0  -3.25e-06 + 5.45e-06

-1.315 £ 0.011

0.002

0

-0.002

-0.004

-0.006

-0.008

'l'lIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|

—0.004-0.003-0.002-0.001 0O

png

0.001 0.002 0.003 0.004

asym_sa

72 [ ndf 82.63/ 24

po 1.797e-06 £ 1.961e-06

p1 0.1012 £ 0.0016
N ﬁj )
o f
: i -
~0.001F
-0.0021 i
-0.003F
_I 1 1 1 1 | 1 1 1 1 | 1 1 1 1 1 1 1 1 |
~0.01 ~0.005 0 0.005 0.01

m7/

F %2/ ndf 106.8 / 24
0.03F
- ) p0  9.838e-06 + 7.554e—06
0.02F '
- , p1 ~3.877 £ 0.008
0.01F =
ok
-0.01 .
- A
-0.02| -
-0.03
:I | | | 1 | | | 1 | | | | | | | | | _I |
~0.01 -0.005 0 0.005 0.01

E

- 1=/ ndf 63.45/7 24
0.003
- p0  -4.698e-06 = 2.112e-06
0.002f- -
N p1 ~0.1996 = 0.0017
0.001F {Fur
C .
o
N " -
i o
~0.001 {
-0.0021
-0.003F )
:I | | | 1 | | | 1 | | | | | | | | ) | | |
~0.01 -0.005 0 0.005 0.01

asym_sa

1= [ ndf 26.53/24

p0  -B.678e-08 £ 2.820e-07

p1 0.9981+ 0.0002 =
0.002F )
of-
—{].D{}Ef—
-0.004 f— ;:":
—{].D{}Ef— -
—D.D{}Ef—
S IR B R SR RS AR
0.0 —~0.005 0 0.005 0.01




asym_saml

asym_samJ3

asym_samsS

asym_sam’7

rund4879 000 asym saml357 “mu

as

0.003

0.002

0.001

—0.001

-0.002

-0.003

]
III|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.003 -0.002 -0.001 0  0.001 0.002 0.003
asym_sami

' 0.03
0.02

0.01

-0.01

-0.02

-0.03

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.04

-0.003 -0.002 -0.001 0O 0.001 0.002 0.003
asym_sami

0.003

0.002

0.001

—0.001

-0.002

-0.003

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

-0.004

-0.003 -0.002 -0.001 0O  0.001 0.002 0.003
asym_sami

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

ﬂ‘lIIIIIIII|IIII|IIII|IIII|IIII|IIII|II

tual corre

as

0.003

0.002

0.0

-0.001

-0.002

-0.003

=
III|IIII|IIII|IIII|IIII|IIII|IIII|II

-0.04 -0.03 -0.02 -001 0 001 0.02 0.03 0.04
asym_sam3

as

' 0.03
0.02

0.01

—-0.01
-0.02

-0.03

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—ﬂ.ﬂ IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII
—é.ﬂ-‘l -0.03 -0.02 -0.01 O 0.01 0.02 003 0.04

asym_sam3

as

0.003

0.002

0.001

-0.001

-0.002

-0.003

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—'D.ﬂﬂ IIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII
—é.ﬂ-‘l -0.03 -0.02 -0.01 O 0.01 0.02 003 0.04

asym_sam3

as

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

__Dlﬂ-*lIIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII
04 -0.03 -0.02 -0.01 {]l 0.01 ,042 0.03 0.04

as

0.003

0.002

0.0

-0.001

-0.002

-0.003

=
III|IIII|IIII|IIII|IIII|IIII|IIII|II

—-0.004-0.003-0.002-0.001 ©0 0.001 0.002 0.003 0.004
asym_samb

as

' 0.03
0.02

0.01

-0.01

-0.02

-0.03

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

_ % ||||I;u||I||||I||||I||||I||||I||||I||||

ﬂ; q:ﬂﬂd—{].D{}E—{].ﬂﬂE—{].ﬂm 0 0001 0.002 0.003 0.004
asym_sam5b

as

0.003

0.002

0.001

-0.001

-0.002

-0.003

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

_DlﬂdIIII|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII
—%.D[H—{].DGB—D.DGE—D.D[H 0 0001 0.002 0.003 0.004

asym_samb

as

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

—'D.. IIII|IIIIIIIII|IIII|IIII|IIII|IIIIIIIII
—%.D[H—{].D{}S—D.DGE—D.DW 0 0001 0.002 0.003 0.004

ation-scat.png

as

0.003

0.002

0.0

-0.001

-0.002

-0.003

=
III|IIII|IIII|IIII|IIII|IIII|IIII|II

—0.040.0080.00&0.0040.002 0 0.0020.0040.0060.008 0.01
asym_sam7y

as

' 0.03
0.02

0.01

-0.01

-0.02

-0.03

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—ﬂ.ﬂ III|III|III|III|III|III|III|III|III|III
—ﬁ.ﬂ#ﬂ.ﬂﬂ&ﬂ.ﬂﬂﬁﬂ.ﬂﬂ#ﬂ.ﬂﬂ? 0 0.0020.0040.0060.008 0.01

asym_sam7

0.003

0.002

0.001

-0.001

-0.002

-0.003

=
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

—D.ﬂﬂ III|III|III|III|III|III|III|III|III|III
—ﬂ.ﬂ#ﬂ.ﬂﬂ&ﬂ.ﬂﬂﬁﬂ.ﬂﬂm.ﬂﬂﬁ 0 0.0020.0040.0060.008 0.01

asym_sam7y

0.008

0.006

0.004

0.002

0

-0.002

-0.004

-0.006

-0.008

—'D.ﬂ III|III|III|III|III|III|III|III|III|III
—é.ﬂ#ﬂ.ﬂﬂ&ﬂ.ﬂﬂﬁﬂ.ﬂﬂ%.ﬂﬂ? 0 0.0020.0040.0060.008 0.01

asym_sam7y



